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1. The slope of a nonvertical line is 17. HEVIEE
the ratio of vertical change (rise) (-2,5) p 1 75
to the horizontal change (run) /
between any two points on # 1 _25
the line. /
' . ) 1
2. Slope is (; slope is undefined.
-5 [(=4,0) x
3.D 4. A 5 B /
6. C 7.1 8. -2 24. %
S 18. ¥
9.0 10. -3 8,7) AR L
(0, 5) 57
11. Slope was computed using \ ©.2)
run ., rise, 3 -1
e it should be Fmm = e (6, 1)
g T 3 x
12. x, and x, were interchanged; 1 (5, —2)
7—35 _ L _ 71 - x ‘ |
2-4- 27 -
19.line2 20. line | 21. line | 25. 7;
13. Perpendicular: the product of their . | / ’
slones is — 22. Find the slopes and compare =31
slopes is — 1. " '
them. The one that has a larger
14. Neither; the slopes are not equal absolute value is steeper. I 1- v
and their product is not — 1. i
23. —2; [
15. Pcrpcnfilculat': the product of their E (=5, o3 Tl _| 2, -8
slopes is — 1. I .
; 3, 1)
16. L ¥ 1 4, —6)
=1 x
X
T2 - :12)
E—— 3,-3)
(9, —3) ‘
| 4,-5)

Warm Up

1.  What is the slope ofthe line contajning (2, 7) and (6, 1)?

—

/ .
2. If 2x+5y=-20 and x=0, at is y?

h: 2
3. Graph: y_—3 x—4 |\\‘
7 I " )
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3-5 Equations of Lines

slope-intercept form \( _: MX ‘- b

standard form O\L )( D \I ’;_ C/
NO Boh ons

Ex 1  Write the equation of the line in slope-intercept form.

V=43
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Ex 2  Write the equation of the line in slope-intercept form.

Y= v
§X—"

Ex 3  Write the equation of the line passing through the
point (2, -3) that is parallel to the line y=6x + 4

rY

\{ — WM+

= X—lg
-3 =12+hk

3=l -2+ -1z 2
-18
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Ex4  Write the equation of the line passing through the
point (4, 3) that is parallel to the line y = % x—9

V= Mx+ o

NEPS od
3=3-4Y+b

3=22+b /JI=b
N -2

Ex5  Write the equation of the line passing through (3, -4)

that is perpendicular to the line m
Dpposre Teupncal Slope/
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Ex 6  Write the equation of the line passing through (2, 5)

that is perpendicular to the line M.x\m‘
\[&ﬂ\)( £lo -3
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